What Should You NOT Do If You Want to
Help Get Rid of Graffiti?

Simplify each expression below. Find your answer in the answer column and notice the
letter next to it. Write this letter in the box at the bottom of the page that contains the number
of that exercise.
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Answers:

(1) 6x+ (5x - 8) | (A) —40x +23

@2x—(9x—4) @ 3y — 01

® -9-(12-3x) O -12x-9

(@) —(5x+5)—4+8x (D) —16x—30
(N) 7x—29

() 7(2x—4)- (10-3x) B rexsa

(6) —-6(5+x) +(18x+1) | 58y — 50
(@) (12— 4x) +8(10 - x) [R) 4x+27
7(2"'*‘2)—9(--1+6x) %:‘):_—1:
@4(—3x—5)—(10+4x) @ oo

6X + (14x — 5) + (17 — 3x) () —ax +68
@ —(2—x)—3(6+8x)—12 %—7x+4
13x +3

© (b siex) -7 (N) 17x+12
@3 11— (3x—6) +2(4x +5) —x o
(x+2)—(r—2)—12x @) 17x-38
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OBJECTIVE 3—d: To simplify expressions that ALGEBRA WITH PIZZAZZ!
require adding or subtracting a binomial. © Creative Publications 25



